B A &8 F Z B ¥ B £ £ = F ;
X W X & B

XBIB LALERRE WL EHT —JIIE A

BTHR | ZNEEoERL> S SFE3A1H FT

AR
gl

HULoEHT

O|o|o| g#am




BRBREENREFEER 5 s ¥ MIFEERTERT .
1\ YREER (R )VE) 500 H
1Sy B (EHEE) 500 B
A B R 500 B
EHER (F3E) 6.00 [

XBEHE

& Ft #E =) £ E R’ EEIBRE
wOR H =) £ E#® EEER




% H| L | fE il H Bl HAL | B & il | <& %R fii
R R
W E 1FE % % i
DD N (L
Ry 7R YEE (AL k) H 5. 00 1S HME
Ny Ry EG (EA5EE) H 5. 00 50 -B-BA S
AR P e i e H 5. 00 3B
EHGER (FriE) | 6. 00 BB
[ERESCE R 6
E % e
# = 1. 00
E i
VH & Bl FH Y A
% 10. 00

Ty
i)
\r

4

M
o
i

[ ] NIFEERTZ R




Yivar = S a——— . N, VA 2
1 B Noumvii (R4 by) HH A 13 3720
4 PR p57) ¥ LN VAR § =% il & %R fi P
N 7R U SEER 7 u—SH  [fH0. 456m3 (EAKO. 35) H 1. 00 EAARSE RIS
Ny 0 RTHT A wF AL N AT Ry R H 1. 64

Ny 7 RUER (A7 v hy) 1HYZY

] AREERTERT




Vivir = - Nz e \ Ng N/

W2 B NushviEs (EsE) A il 1H %70

4 PR p57) ¥ LN VAR § =% il & %R fi P
N 7R U SEER 7 m—ZR (1f40. 456m3 (FEAL0. 35) H 1. 00 o5 Bl R
NIRRT F AL GRS E) B CIIE 1700~2000mm JTUIE 400~750mm e 6. 30

Ny 7R vEiE (EAE) 1HYY

] ARREERTERT




503 B AEHEGR EES HH Al L 13 3720
4 PR Hi & B L = fill & # 1 2
REEHERE . (7 a— T8« 20 7R 10. Otfg Hex: 2vk FLUe H 1. 00 3 LT 52

ANEE i E i HOE R L H Y 72 D

] AREERTERT




54 5 EKEWR (hE) AN <+ 1= 720

ga P A S HOL & B & fii £3

KAEHE B15 t i H 0.50 B4 AT R

7~
<
[
N
d..
17
pill

FRER (B 1m0

] AREERTERT




PN > N —a N £ N/ -
1 5 Xy 7 IR v R filh % 1H %720
4 i K ¥ B A7 = (i & %R fi W

HEIE T (FFER) A 1. 00

B R=m—UECSa—/Lk) 0 58. 00

Ny JIAR Yy PERPRY 2R B TE yu=78 1LF50. 45m3 CEA%O. 35m3) S RE! 1. 64

B HERL

Ny 7 AR EERL H 72D

] AREERTERT




PN > N —a N £ N/ -
%2 Xy 7 IR v R ith 3% 1H %720
4 i K ¥ B A7 = (i & %R fi W

HEIE T (FFER) A 1. 00

B R=m—UECSa—/Lk) 0 58. 00

Ny JIAR Yy PERPRY 2R B TE yu=78 1LF50. 45m3 CEA%O. 35m3) S RE! 1. 64

B HERL

Ny 7 AR EERL H 72D

] AREERTERT




H ith * 1H X729

W3 B FEHERE Ju—78. 4T
% PR B 1 B 7 ¥ & o Afh & #H i Y
MR T (RFk) A 1.00
P = —UECOS b — LG TH) 0 175. 00
AEEHEEE (/=707 07730 | 10, 0tFE ek 20k HLvE H 1. 00
R HERY

REEHGERE (7 m—F8 . ¥ 7)) 1YY

] AREERTERT



4 7 FL—7 Ho i =X IH =72V

4 PR p57) ¥ N7 o= Bl 4 | i P
TEIL T (REEk) A 1. 00
X S=u—UECI e =LA 0 113. 40

rL—3 I - RRHEEEELS R H 1. 00

ML—Z1H472D

] AREERTERT



